7 сынып. Алгебра.
Бақылау жұмысы  №2
1-нұсқа
1.  Амалдарды орындаңдар:
1)   (3ab-5a-b)-(12ab-3a);
2)   2x2(3-5x3);
3)   (2a-5c)(a+2c)
4)   (y-1)(y2+2y-4)
5)   (3x3-6x2):3x2;
2. Өрнекті ықшамдаңдар:   3с(c-2)-(c-3)(c-1)
3. Көбейтуді орындаңдар: -0,3а(4а2-3)(2а2+5).
4. Өрнекті ықшамдаңдар: 2а(a+b-c)-2b(a-b-c)+2c(a-b+c)
5. x-тің қандай мәнінде екі өрнектің мәндері тең болады?
5x(2x-3)-3x(11x-5)  және     10(1-2x)+10x2-33x2;
6. Өрнекті ықшамдаңдар:  2


2-нұсқа
1. Амалдарды орындаңдар:
1) 5y2+7y-(13y-5y2);
2)   2c(a-3b+4);
3)   (4x-1)(4x-3)
4)   (a+2)(a2-a-3)
5)   (2ab2-6a2b ):2ab;
2. Өрнекті ықшамдаңдар:   (x-4)-(x-5)-2x(x-6)
3. Көбейтуді орындаңдар: -0,5y(4-2y2)(y3+3).
4. Өрнекті ықшамдаңдар: 7y(x+y-p)-7p(x-y-p)+7x(x-y+p)
5. x-тің қандай мәнінде екі өрнектің мәндері тең болады?
3x(2x-3)-3x(11x-5)     және     6(1-2x)+10x2-3x2;
6. Өрнекті ықшамдаңдар:  2
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